FH A EFr FAEEL (1134'175‘_—?69 )
Lk @§¢ailmﬁ6n@w FHLHCL 6V T, 496 o

6 7 A2 =W e F el 7,993.2 @R o e E & 13.03
5@%%$m%ﬁ’ﬁnkgﬁmlmg4ﬂmoﬂﬂ’

4] 4 i\’ftkf F LD 400 3, T4d A o E 5 12,969 5 a1
A RECL 1 520 B feE 5 14.8800; ¥ iRALE Y A
BOR 1Y 952 fn o e F 140695 ek £ % 405 1,721

2.93% ; FBiRAEET RHS T2 R~ 0 JegE F0.82
? WA AEEY RRL 18T BA o e F S 9.399% o £
EHM FAE L RGA LT RAEE 6,020 A
93/,”’%‘—';‘“1“@ B2 BRI RAEE® AL 170
f‘@ "]{_;L"t = 16. 229 -
ARG P £ R AR ET THER I RTEFE TR OIS
B 5% CPI &rw CPI 3 3% 3 3.3%% 3.49% » i Wi
ZRAFET > B FE AL B fﬁ?ﬁﬁé‘ﬁ‘*ﬁ Fo6iFAk &R
B HEF SEp Rtk 2P NMSCI ilﬁﬁ”«‘}lﬁ%#ﬁﬁﬁtG Tix ARG 2.23
A3 AR 11.30% 5 MSCI #7# % HL £ 6 * (>4 R 5 3.83
960 5 & B2 R T ALY S SR B a s 6 ) AR 8.77% >
5 E R R 28.40%  FE 2FE G Sk 6 P ARG 0. 14
% 7 & R 3.16% o
“%é¢uﬁﬁaw%ﬁknppﬂ’@U@P“wﬁ&i%’
ééi?% T taihiE 5 oA et B Bﬂﬂl\lplx;yé\p‘j—f_r:@_
A Pl "]_EE]]J\ NEOR I ;ﬁwﬁ MEH - &g Hk 4R
Gl F B o ﬁﬁm&pdyi Ry A LT 10 £ 5
(103~113.06 ) T 3= £ x5 6.72% > Wix&A £3i7 10 # %
(103~113.06) T3z d & 5 7.27% > & PR F F>cfiid
B Ak WEETAEAMF) 77 16 p 2% & 378 E‘L & A
LY > BF L ErIREARSLIFH 2% P ER A0
BEABD 3.3% 4F 44 dd SHIRIEE H U BR o g 0
B E ,ﬁpg’;%rﬁg,g o TN A F’%r"%]}{a:/:}_a:mjﬁigét;? o

E‘— R



AW FRAFFRFRE- BLPFRF > 20 2 5 2IREHRSE TR
B aBpf S BRFRELR 67 270 FF HATR F R
D RFHKGHIFEANGT AL 3D~ 240 3T o g
B 4y rmg;ta PRLEFFIR S EIRP R FEFEEY R

y oV AR I‘m7’glﬂ’??’?r;§‘6 ?l‘é#PMI§~53.7%’@
DB Y PR I ISR R E A ESIR AL A 60 ATHTE

iékﬁiﬁ%%ﬁ&ﬁ%m@o

LR R RN E 1S PN E AN 3 SUR S
BHF A DVEIRLE 0GR bt R AR B EE
ArRARRFERE L LAV BT ALE S FAEET bk
B LR DIRFCE R RALT B Rk 2 R BTN 1 4
EEF* iy o MR AERDPRF LE o

B E

FHAEE B PRI K Hox- A
£3113#67° 30 p
g
A& F - B EEY LK e ¥ Yo F &
Grd %/m~) Grd %/m <) =
3 1T RA 4 43, 744. 1 5, 398. 7 12.96%
B 1 TR 4 10,519. 8 1, 300. 7 14. 88%
F1i9hAE )P 54, 263. 9 6, 699. 4 13.29%
¥ ims g 10, 952. 6 1,226.3 14. 06%
Pk R s 1,720.7 493 2.93%
SRR A & 371.9 3.0 0.82%
Hr1FERg AL 186. 8 15. 9 9.39%
FHR e L 67,495.9 7, 993. 2 13.03%
R4 £ 6,019. 8 697. 3 13.93%
B4 170. 0 25. 2 16. 22%
ke 73, 685. 7 8, T15. 7 13.119%

LI ET RRPEHE

+113.01.01 = 113.06.3

o




